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The distributive property says for all real numbers a, b, and ¢,

ab+) =00 * Ol
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a(b + ¢) is called _—\. A( \ L \ ~ form ab + ac is called € Y 0N \ form

C. Use the Distributive Property to write each expression in expanded form.
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*Note: Remember parentheses are a grouping symbol, so it is possible to get rid of them last rather than
distributing first if you truly understand what you are doing. Sometimes doing that is easiest (#1) and
other times it makes it more difficult (#3)

In fractions, numerators are a grouping symbol so we eliminate the fraction (division) first.

You should remember from 6" and 7" grade the opposite of distribution: factoring.
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